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MEBERBT7ASUFMRESEEHEERHEERS

% # s - BRHE By B il & & 1
BRI 11,185,400 + 278,138 11, 463, 538
EEAGE 11,185, 400
EERE 278,138
Z DR 11,185,400 x 53.85% ( 35% = (1 — 35%) ) 6,023, 337
SRR 11,463,538 + 6,023, 337 17, 486, 875
—REEEF 17,486,875 x 53.85% (35% + (1 — 35%) ) — 3,557 9, 413,125
KBS 17,486,875 + 9,413,125 26, 900, 000
HEREHELE 26,900,000 x 10.00% 2, 690, 000
EBERREM 26,900,000 + 2, 690, 000 29, 590, 000




BEARRE HMEEART AR RS S EHE S

) R Big - MAKTHE Bl % 8 B & i) Hm =
BRI 11, 463, 538
BT A ERET £ 11, 463, 538
BT EtERET 11, 463, 538
EEE 613, 750
ETEE R 415, 450
1 EHEEEE 1.00 415, 450 415, 450
=
BiAE 198, 300
2 HRE 1.00 198, 300 198, 300
=
REMHDRE 1,701, 500
REMHDRE 1,701, 500
3 BFIRE D RIS BT 1.00 1,701, 500 1,701, 500
=
METEHE DBRE 4,730, 600
METEHE DBRE 4,730, 600
4 B{EEtEOBRE 1.00 1, 351, 600 1,351, 600
=
5 METEtE DRET 1.00 2,027, 400 2,027, 400
=
6 {RERETE DS 1.00 1,013, 700 1,013,700
=
1 IRt EDRE 1.00 337,900 337, 900
=
EMEERE 3,116, 600




BEARRE HMEEART AR RS S EHE S

EhEE%F 3,116, 600
8 HmEERL 1.00 1, 155, 500 1,155, 500

=
9 BEHE 1.00 805, 800 805, 800

=
10 #EBE TRR4RET 1.00 675, 800 675, 800

=
N BETENHE 1.00 479, 500 479, 500

=
i - |E 423,100
i - |E 423,100
12 ERIHE 1.00 117, 400 117, 400

]
13 SR E 1.00 117, 400 117, 400

]
14 RRI|E 1.00 188, 300 188, 300

]
BE 148, 500
BE 148, 500
15 BE 1.00 148, 500 148, 500

=
R 451, 350
R 451, 350
16 $F|REEMER 1.00 433, 550 433, 550

=
17 AFRARERER 1.00 17, 800 17, 800

=
EEEE 278,138
EHAME 106, 138
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18 EHHAME 1.00 106, 138 106, 138

=
EBRERE 130, 000
19 £BHER 1.00 130, 000 130, 000

=
BIREE 42,000
20 EIREE 1.00 42,000 42,000

=
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&5 1
275 FHEEE IEED
£ b3 B - BIKTE =-Fiv] = fili ® 5 w =
HEE
A 1.00 70, 900. 00 70, 900
F{EHRAm GRED
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1EZRERN  1.00K 415, 450. 00 415, 450
52
L WiAE 1BHY (1K)
% b R - KT BT B = i ® £ H %
FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 1.00 35, 600. 00 35, 600
& it 1E%8ERH : 1.00=C 198, 300. 00 198, 300




R &I/ \vr—2

MEERBT7 AU RS LS FRMEHRE

&5 .3
2 BRREOHERSHENT IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 3.50 62, 200. 00 217, 700
HEm (A)
A 6.00 55, 200. 00 331, 200
HEm (B)
A 12.00 45, 300. 00 543, 600
HEh (C)
A 14.00 35, 600. 00 498, 400
i &
A 3.50 31, 600. 00 110, 600
& B 1EZRERN  1.00K 1,701, 500. 00 1,701,500
=S4
£ BlEitEOmREt IEED
% b R - KT BT B = B O{f ® £ H %
FEHAR (F%E)
A 6.00 62, 200. 00 373, 200
HER (A)
A 6.00 55, 200. 00 331, 200
HER (B)
A 8.00 45, 300. 00 362, 400
HER (C)
A 8.00 35, 600. 00 284, 800
& it 1E%8ESN : 1.00=C 1, 351, 600. 00 1,351, 600
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MEERBT7 AU RS LS FRMEHRE

ES .5
L lEIEED®RE IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 9.00 62, 200. 00 559, 800
HEm (A)
A 9.00 55, 200. 00 496, 800
HEm (B)
A 12.00 45, 300. 00 543, 600
HEh (C)
A 12.00 35, 600. 00 4217, 200
& Hi 1EZRERN  1.00K 2,027, 400. 00 2,027, 400
S .6
& RERETEORRET IEED
% b R - KT BT 2 B O{f ® £ H %
FEHAR (F%E)
A 4.50 62, 200. 00 279, 900
HER (A)
A 4.50 55, 200. 00 248, 400
HER (B)
A 6.00 45, 300. 00 271, 800
HER (C)
A 6.00 35, 600. 00 213, 600
& B 1E%8ERH : 1.00=C 1,013, 700. 00 1,013, 700
&= .1
%% TIRETEOKE 14y
% L] g - BIRTiE BT 2 i & E i =
FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 2.00 35, 600. 00 71, 200
= it YE¥REH 1,00 337, 900. 00 337, 900
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=:8
2% . REEK 1XEY
£ [ R - KT B B =2 B {f £ £ w =
HEm (B)
A 3.00 45, 300. 00 135, 900
HEh (C)
A 10. 00 35, 600. 00 356, 000
i &
A 21.00 31, 600. 00 663, 600
& B 1EZ%EBER - 1.00K 1, 155, 500. 00 1, 155, 500
=9
&% BEHE 1XHY
4 b R - KT By B = B i & ) H %
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 5.00 35, 600. 00 178, 000
Hiftg
A 17.00 31, 600. 00 537, 200
& g EBER - 1. 00K 805, 800. 00 805, 800
H5:10
2 RS TIERRET X5y
% L] R - KT B B = B @ £ %8 g &
FEHAR (F%E)
A 3.00 62, 200. 00 186, 600
HER (A)
A 3.00 55, 200. 00 165, 600
HER (B)
A 4.00 45, 300. 00 181, 200
HER (C)
A 4.00 35, 600. 00 142, 400
& it 1EZEERN : 1.00K 675, 800. 00 675, 800




RER-FET/\vr— MEBART A5 RS S E R mR

=: 1
&% MEITEDETE IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 W E w =
HEm (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 3.00 45, 300. 00 135, 900
HEh (C)
A 5.00 35, 600. 00 178, 000
& B 1EZRERN  1.00K 479, 500. 00 479, 500
E5:12
¥ BAHE 1EHY
% b R - KT BT B = B O{f * % W E H %
FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
& it 1EZ8EH : 1.00[E] 117, 400. 00 117, 400
&5 :13
2 . PREBRE HZER
% L] g - BIRTiE ==Rivi #H = B @ & E W E i =
FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
& it YEZERES : 1.00[E 117, 400. 00 117, 400
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MEERBT7 AU RS LS FRMEHRE

&5 14
2% . RS 1mEHY
£ [ R - KT B = i € ® w =
HEE
A 1.00 70, 900. 00 70, 900
F{EHRAm GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
& Hi 1YEZRER : 1.00[E 188, 300. 00 188, 300
&S :15
&% BE 14y
% b R - KT B = i * % H %
FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 1.00 55, 200. 00 55, 200
& it 1E%8ERH : 1.00=C 148, 500. 00 148, 500
&5 :16
B MESER 14y
% L] R - KT B = il € ¥ g &
FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 2.50 55, 200. 00 138, 000
HER (B)
A 2.50 45, 300. 00 113, 250
HER (C)
A 2.50 35, 600. 00 89, 000
& it 1E%8ESN : 1.00=C 433, 550. 00 433, 550
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&5 .17
2% NFEARRRER 1XEY
£ [ R - KT B B =2 B {f £ £ W E w =
HEh (C)
A 0.50 35, 600. 00 17, 800
& B 1EZ%EBER - 1.00K 17, 800. 00 17, 800
= :18
&% EBARE 1XHY
4 b R - KT By B = B i & ) W E H %
EBRARE
= 1.00 106, 138. 00 106, 138
& g EBER - 1. 00K 106, 138. 00 106, 138
E5:19
&% EBHER 14y
4 b R - KT By B = B i & ) W E H %
EBHRRE
= 1.00 130, 000. 00 130, 000
& &t EBER - 1. 00K 130, 000. 00 130, 000
H5:2
&% BMIREEE XLy
% L] R - KT B B = B @ £ B8 W E g &
EIREE
=® 1.00 42,000. 00 42,000
& &t YEEBEA - 1. 00K 42,000. 00 42,000




